

$$\left| \frac{1}{z(z-1)} \right| \quad |z=0|$$

$$\frac{1}{z(z-1)} = \frac{1}{z} + \frac{1}{z-1}$$

(a) $|z| < 1$

$$\frac{1}{z-1} = \sum_{n=0}^{\infty} z^n$$

altern $\left| \sum_{n=-1}^{\infty} z^n \right|$ $a_{-1} = 1$

(b) $|z-1| < 1$ $|z=1|$

$|z-1| < 1$

$$\frac{1}{z} = \frac{1}{1-(1-z)} = \sum_{n=0}^{\infty} (1-z)^n = \sum_{n=0}^{\infty} (-1)^n (z-1)^n$$

only pro $0 < |z-1| < 1$

$$\left| \frac{1}{z(1-z)} \right| = \sum_{n=-1}^{\infty} (-1)^n (z-1)^n \quad \underline{\underline{a_{-1} = 1}}$$

(c) $|z| > 1$ $|z=\infty|$

pro $|z| > 1$

$$\frac{1}{1-z} = -\frac{1}{z} \cdot \frac{1}{1-\frac{1}{z}} = -\frac{1}{z} \sum_{n=0}^{\infty} \left(\frac{1}{z}\right)^n = -\sum_{n=1}^{\infty} \frac{1}{z^n}$$

altern $\frac{(z-1)z}{1} = -\sum_{n=0}^{\infty} \frac{1}{z^{n+1}}$ $-a_{-1} = 0$

$$f(z) = \frac{1}{(z+1)(z+2)}$$

$$f(z) = \frac{1}{z+1} - \frac{1}{z+2}$$

$$z_0 = -2$$

$$(a) |z+2| < 1$$

$$\frac{1}{z+1} = \frac{-1}{1-(z+2)} = -\sum_{n=0}^{\infty} (z+2)^n$$

$$\frac{1}{z+2} = \frac{1}{z+2}$$

also

$$-\sum_{k=1}^{\infty} (z+2)^k$$

$$(b) |z+2| > 1$$

$$\frac{1}{z+1} = \frac{1}{z+2-1} = \frac{\frac{1}{z+2}}{1-\frac{1}{z+2}} =$$

$$= \frac{1}{z+2} \sum_{n=0}^{\infty} \left(\frac{1}{z+2}\right)^n$$

also

$$\sum_{n=2}^{\infty} \frac{1}{(z+2)^n}$$

$$f(z) = \frac{1}{(z+1)(z+2)}$$

$$z_0 = -1$$

$$f(z) = \frac{1}{z+1} - \frac{1}{z+2}$$

(a) $0 < |z+1| < 1$

$$\frac{1}{z+1} = \frac{1}{1 + \underbrace{z+1}_{z-(-1)}} = \sum_{h=0}^{\infty} (-1)^h (z+1)^h =$$

$$\frac{1}{z+1} = (z - (-1))^{-1}$$

alternatingly $f(z) = \sum_{k=-1}^{\infty} (-1)^{k+1} (z+1)^k$

(b) $|z+1| > 1$

$$\begin{aligned} \frac{1}{z+2} &= \frac{1}{z+1+1} = \frac{1}{z+1} \frac{1}{1 + \frac{1}{z+1}} = \frac{\frac{1}{z+1}}{1 - \left(-\frac{1}{z+1}\right)} = \\ &= \frac{1}{z+1} \sum_{h=0}^{\infty} (-1)^h \frac{1}{(z+1)^h} = \sum_{h=-1}^{\infty} (-1)^{h+1} (z+1)^h. \end{aligned}$$

alternatingly

$$f(z) = \sum_{h=2}^{\infty} \frac{(-1)^h}{(z+1)^h}$$

$$f(z) = \frac{1}{(z+1)(z+2)} \quad z_0 = 1$$

mitro termi desitab $\frac{1}{z+2}$ ($z-1$)

$$f(z) = \frac{1}{z+1} - \frac{1}{z+2}$$

$$(a) \quad \frac{1}{z+1} = \frac{1}{z+2-1} = \frac{1}{z} \frac{1}{1 - \left(-\frac{z-1}{z}\right)} =$$

$$= \frac{1}{z} \sum_{h=0}^{\infty} \left(-\frac{z-1}{z}\right)^h (z-1)^h \quad \text{pro } \left|\frac{z-1}{z}\right| < 1$$

$$-\frac{1}{z+2} = -\frac{1}{3+z-1} = -\frac{1}{3} \frac{1}{1 - \left(-\frac{z-1}{3}\right)} =$$

$$= -\frac{1}{3} \sum_{h=0}^{\infty} \left(-\frac{z-1}{3}\right)^h (z-1)^h \quad \text{pro } \left|\frac{z-1}{3}\right| < 1$$

alkem

$$\sum_{h=0}^{\infty} (-1)^h \left(\frac{1}{z^{h+1}} - \frac{1}{3^{h+1}} \right) (z-1)^h \quad \text{we } |z-1| < 2$$

$$(b) \quad \frac{1}{z+1} = \frac{\frac{1}{z-1}}{1 - \frac{-2}{z-1}} = \frac{-1}{z-1} \sum_{h=0}^{\infty} (-2)^h \frac{1}{(z-1)^h} =$$

$$= \sum_{h=0}^{\infty} \frac{-2^{h-1}}{(z-1)^h} \quad u = \frac{-1}{z-1} \quad \text{we } |u| < 1 \Rightarrow |z-1| > 2$$

alkem

$$\sum_{h=-1}^{-\infty} (-2)^{-(h+1)} (z-1)^h + \sum_{h=0}^{\infty} \frac{(-1)^h}{3^{h+1}} (z-1)^h$$

$$\text{we } 2 < |z-1| < 3$$

$$(c) \quad \frac{1}{z+3} = \frac{1}{z-1+3} = \frac{1}{z-1} \sum_{h=0}^{\infty} (-3)^h \frac{1}{(z-1)^h} \quad \text{we } |z-1| > 3$$

alkem

$$\sum_{h=-1}^{-\infty} (-1)^{h+1} [2^{-(h+1)} - 3^{-(h+1)}] (z-1)^h \quad \text{we } |z-1| > 3$$

$$f(z) = \frac{1}{(z-2)(z-3)} \quad z_0 = 0$$

Bestenfalls via part. Bruchzerlegung

$$\frac{1}{z-3} - \frac{1}{z-2}$$

$$\frac{1}{z-3} = -\frac{1}{3} \frac{1}{1-\frac{z}{3}} = -\sum_{n=0}^{\infty} \frac{z^n}{3^{n+1}} \quad |z| < 3$$

$$\frac{1}{z-2} = \frac{1}{2} \frac{1}{1-\frac{z}{2}} = \sum_{n=0}^{\infty} \frac{z^n}{2^{n+1}} = \sum_{n=-\infty}^{-1} 2^{-n-1} z^n \quad |z| > 2$$

Partialbruchzerlegung

$$\frac{1}{z-3} \text{ für } |z| < 3 \quad \text{oder} \quad |z| > 3$$

$$\text{oder} \quad |z| > 3$$

$$\frac{1}{z-2}$$

$$|z| < 2$$

$$\text{oder} \quad |z| > 2$$

Partialbruchzerlegung: $|z| < 2$

$$\text{Partialbruchzerlegung} \quad -\sum_{n=-\infty}^{-1} 2^{-n-1} z^n - \sum_{n=0}^{\infty} \frac{z^n}{3^{n+1}}$$

Beywies für $n \rightarrow \infty$

$$f(z) = \sum_{n=0}^{\infty} \frac{z^n}{n!} = e^z$$

$$\sum_{n=0}^{\infty} \frac{z^n}{n!} = e^z$$

$$\frac{1}{1} = \sum_{n=0}^{\infty} \frac{z^n}{n!} = z^0 + z^1 + z^2 + \dots$$

$$= \sum_{n=0}^{\infty} \frac{1 \cdot (z^n)}{n!} = 1 + z + \frac{z^2}{2!} + \dots$$

$$\left| \frac{1}{z-2^3} \right|$$

$$\frac{1}{z-2^3} = \frac{1}{z(1-z)(1+z)}$$

$$\text{Res } 0 \quad f(z) = \lim_{z \rightarrow 0} z \frac{1}{z(1-z)(1+z)} = 1 = \underline{\underline{1}}$$

$$\text{Res } 1 = \lim_{z \rightarrow 1} (z-1) \frac{1}{z(1-z)(1+z)} = \lim_{z \rightarrow 1} \frac{-1}{z(1+z)} = -\frac{1}{2} = \underline{\underline{-\frac{1}{2}}}$$

$$\text{Res } -1 = \lim_{z \rightarrow -1} (z+1) \frac{1}{z(1-z)(1+z)} = \lim_{z \rightarrow -1} \frac{1}{z(1-z)} = -\frac{1}{2} = \underline{\underline{-\frac{1}{2}}}$$

$$\frac{1}{z^5 - 4z^3}$$

$$z^5 - 4z^3 = z^3(z-2)(z+2)$$

$$\text{Res}_2 = \lim_{z \rightarrow 2} \left[(z-2) \frac{1}{z^3(z-2)(z+2)} \right] = \frac{1}{3 \cdot 2}$$

$$\text{Res}_{-2} = \lim_{z \rightarrow -2} \left[(z+2) \frac{1}{z^3(z-2)(z+2)} \right] = \frac{1}{3 \cdot 2}$$

$$\text{Res}_0 = \lim_{z \rightarrow 0} \frac{1}{(z-1)!} \left[z^3 \frac{1}{z^3(z-2)(z+2)} \right]^{(2)}$$

$$= \lim_{z \rightarrow 0} \frac{1}{2} \left(\frac{1}{z^2 - 4} \right)^{(2)} =$$

$$= \lim_{z \rightarrow 0} \frac{1}{2} \left(\frac{-2z}{(z^2 - 4)^2} \right) =$$

$$= \lim_{z \rightarrow 0} \frac{1}{2} \frac{-2(z^2 - 4)^2 + 8z^2(z^2 - 4)}{(z^2 - 4)^4} =$$

$$= -\frac{1}{16}$$

$$\boxed{\lim_{z \rightarrow -1} \frac{2z}{(z+1)^3}}$$

$$z_1 = -1$$

$$\lim_{z \rightarrow -1} \frac{1}{(z+1)^3} = \left[\frac{2z}{(z+1)^3} \right]^{(3-1)} =$$

$$= \frac{1}{2} \lim_{z \rightarrow -1} (2 \cos 2z)' = \frac{1}{2} \lim_{z \rightarrow -1} 2 \cdot (-\sin 2z) \cdot 2 =$$

$$= 2 - (\sin(-2)) = \underline{\underline{-2 \sin(-2)}}$$

$$\frac{z+1}{z^2+2z+2}$$

$$z_1 = -1+i$$

1. Födelu

$$z_2 = -1-i$$

$$\text{Res}_{-1+i} f = \lim_{z \rightarrow -1+i} \frac{z+1}{z^2+2z+2}$$

$$= \frac{-1+i+1}{-1+i+1+i} = \frac{i}{2i} = \frac{1}{2} \quad \square$$

$$\text{Res}_{-1-i} f = \lim_{z \rightarrow -1-i} \frac{z+1}{z^2+2z+2}$$

$$= \frac{-1-i+1}{-1-i+1-i} = \frac{-i}{-2i} = \frac{-i}{-2i} = \frac{1}{2} \quad \square$$

$$\text{Res}_{\infty} = \underline{\underline{-1}}$$

$$\frac{e^z}{z^2(z^2+a)}$$

$$= \frac{e^z \rightarrow \text{holom.}}{z^2(z+3i)(z-3i)}$$

(a) two or better 0 - 2. h.o.s. pole ^{double}

$$\text{res}_0 f = \lim_{z \rightarrow 0} \frac{1}{(2-1)!} \left[(z-0)^2 f(z) \right] (2-1)$$

$$= \lim_{z \rightarrow 0} \frac{e^z}{(z^2+a)} = \lim_{z \rightarrow 0} \frac{e^z(z^2+a) - e^z 2z}{(z^2+a)^2}$$

$$= \frac{1 \cdot 9 - 0}{9^2} = \frac{1}{9}$$

(b) bad $-3i, 3i \rightarrow$ 1. order pole

$$\text{res}_{3i} f = \lim_{z \rightarrow 3i} \frac{1}{(1-1)!} \left[(z-3i)^1 \frac{e^z}{z^2(z+3i)(z-3i)} \right]^{(1-1)}$$

$$= \lim_{z \rightarrow 3i} \frac{e^z}{z^2(z+3i)} = \frac{1}{-1 \cdot 9 \cdot 6i} \cdot e^{3i} =$$

$$= \frac{1}{54} i (\cos 3 + i \sin 3) = \frac{1}{54} (-\sin 3 + i \cos 3)$$

(c) bad $3i$ 1. order pole

$$\text{res}_{-3i} f = \lim_{z \rightarrow -3i} \frac{1}{(1-1)!} \left[(z+3i)^1 \frac{e^z}{z^2(z+3i)(z-3i)} \right]^{(1-1)}$$

$$= \lim_{z \rightarrow -3i} \frac{e^z}{z^2(z-3i)} = \frac{e^{-3i}}{-9(-6i)} = -\frac{1}{54} i (\cos -3 + i \sin(-3))$$

$$= -\frac{1}{54} (\sin 3 + i \cos 3)$$

(d) $\rightarrow \infty$

$$\sum_{a \in A} \text{res}_a f = 0$$

$$\text{Prop} \quad \text{res}_0 + \text{res}_{54i} + \text{res}_{-3i} + \text{res}_\infty = 0$$

$$\begin{aligned} \Rightarrow \text{res}_0 &= - \left(\frac{1}{a} + \frac{1}{54}(-6iu^3 + i4u^3) - \frac{1}{54}(6iu^3 + i4u^3) \right) \\ &= \frac{-\frac{1}{a} + \frac{1}{27}6iu^3}{} \end{aligned}$$